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1•Matter and Measurement

PRACTICE TEST  

1.
The smallest particle of an element that retains the chemical properties of the element is a(n)


a)
atom
d)
solid


b)
molecule
e)
gas


c)
ion

2.
In the gaseous state, particles


a)
move independently and randomly.


b)
have strong attractions for each other.


c)
fill the available space because of strong interactions.


d)
lose energy in time.


e)
gain energy in time.

3.
What is the density of a metal if a 15.4 gram sample has a volume of 1.96 cm3?


a)
0.127 g/cm3
d)
30.2 g/cm3

b)
0.511 g/cm3
e)
33.1 g/cm3

c)
7.86 g/cm3
4.
The dimensions of a rectangular solid are 8.45 cm long, 4.33 cm wide and 2.85 cm high.  If the density of the solid is 9.43 g/cm3, what is its mass?


a)
1.12 grams
d)
896 grams


b)
11.1 grams
e)
983 grams


c)
154 grams

5.
If we stated that a baggie full of chemicals inflated and the contents turned yellow, we would be making ____.


a)
qualitative observations


b)
quantitative observations


c)
inferences


6.
A metal sample weighing 30.9232 grams was added to a graduated cylinder containing 23.26 mL of water.  The volume of the water plus the sample was 24.85 mL.  What is the density of the metal?


a)
2.0 x 101 g/mL
d)
19.449 g/mL


b)
19.4 g/mL
e)
19.4486 g/mL


c)
19.45 g/mL

7.
In comparing the Kelvin and Celsius temperature scales which one of the following statements is true?


a)
The difference between the freezing and boiling points of water is 273°C.


b)
The Kelvin scale has no negative numbers.


c)
The scales have the same zero point.


d)
-273 K = 0°C.

e)
0 K = 273°C.
8.
Approximately how many elements are found in nature?


a)
185
d)
60


b)
110
e)
44


c)
90

9.
The number of significant digits in 0.30500 is


a)
1
d)
4


b)
2
e)
5


c)
3

10.
The most important piece of safety equipment.


a)
apron
c)
hair band


b)
goggles
d)
gloves


11.
A student performs a calculation using her calculator and the number 280.27163 is shown on the display.  If the answer is valid to three significant figures, how should she report the final answer?


a)
280
d)
2.80 x 10-2

b)
280.3
e)
2.80 x 102

c)
280.27

12.
The value seven hundred fifty million valid to four significant figures is written as


a)
7500 x 106
d)
750,000,000


b)
7.500 x 108
e)
7500 x 108

c)
750 x 106
13.
Evaluate the expression:

(8.346 + 2.854) (1.2750) =


a)
14.28
d)
1.428


b)
1.428 x 101
e)
1.4280 x 101

c)
1.428 x 102
14.
Which of the following is a chemical property of water?

a)
its density is 1.000 g/cm3 at 4°C.


b)
its melting pint is 0(C.


c)
it forms bubbles when calcium is added.


d)
it causes light rays to bend.


e)
its heat of fusion is 6020 J/mol.

15.
Which of the following is an example of a chemical change?


a)
water boiling
d)
iodine vaporizing


b)
ice melting
e)
dry ice subliming


c)
natural gas burning


16.
How many inches are in length of 404 mm?
[1 in = 2.54 cm]

a)
15.9 in
d)
159 in


b)
103 in
e)
1026 in


c)
1.026 x 102 in

17.
Knowing that a nanometer = 10-9 m, a wavelength of 17 nanometers is equal to _____ kilometers.


a)
17 x 109 km
d)
17 x 10-12 km

b)
17 x 10-9 km
e)
1.7 x 10-10 km


c)
17 x 1012 km

18.
A pressure of 1.0 lbs/in2 is equal to _____.
[454 g = 1 lb and 2.54 cm = 1 in]

a)
(454 g)2 ÷ 2.54 cm


b)
454 g ÷ (2.54 cm)2

c)
(454 g ÷ 2.54 cm )2

d)
2.54 cm2 ÷ 454 g


e)
[454 g ÷ (2.54 cm )2]2
19.
A rectangular piece of aluminum foil is measured as 2.00 cm long and 3.45 cm wide.  How would you report the area of the sheet?


a)
7 cm2
d)
6.9000 cm2

b)
6.9 cm2
e)
7.0 x 102 cm2

c)
6.90 cm2
20.
If a 4.50 g sample of Zn-Al-Cu alloy contains 2.45 g Zn and 1.34 g Al, what is the % composition of Cu?


a)
3.8%
d)
71.0%


b)
7.1%
e)
84.2%


c)
15.8%


21.
How many kilograms of tin are in a 3.25 lb roll of tin foil that is 92.0% tin and 8.00% zinc? 
[1 kg = 2.20 lbs]

a)
1.36 kg
d)
7.15 kg


b)
1.48 kg
e)
11.8 kg


c)
6.78 kg

22.
An iron “shotput” which is used in track meets has a mass of 16.00 lbs (7260 g).  If the density of iron is 7.87 g/cm3, what is the radius of the iron ball?  (The volume of a sphere is 4/3 ( r3.)

a)
3.02 cm
d)
12.1 cm


b)
6.04 cm
e)
24.2 cm


c)
7.31 cm
23.
A mixture of substances can be separated by

a)
chromatography


b)
filtration


c)
distillation


d)
all of these methods

24.
The sum of 4.2 cm + 6.1 cm should be reported to ___ significant figures.


a)
1
d)
4


b)
2
e)
5


c)
3

25.
Convert 3.52 years into seconds.

a)
1.11 x 108 sec
d)
111006720 sec


b)
833 sec
e)
8.33 x 10-5 sec


c)
11.1 x 10-8 sec
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